#<6.2-3(2)

BIRBRVEGEREM BERED

(B L - $21E)

- [i] A
\ ] Bl e
T.fE TEENRE R (BAR) B L
& | 7
- (&)
=
RER T — A — 1
FEAT TR R — 2
* 7 a—5—27 L—> (50~55t ) 1
W T BRI FEE | 5 77 L—r 7 L—2 (16tH) 1 1
i . oy y—h | 2¥Z U — R T H(90~110m"/h) 1 )
= =Ju
e L FIak 22y Y — k3 FHE (10t) 1
MiZRek T EAMTARER K7y 7 L—2 (100t ) 1 1
vy y—h |27 U — hRTH(90~110m’/h) 1
T | T2, 2
I R & [ao70—r3xvmaon 1
T FRAT 7 NT 4= % (2. A~6. Om) 1
, s - KB - =
At = = — — ~
IJ%Z?I (%—j{i&j L . $ﬁ}j__‘:> = ]\ = - (10 12t) 1 3
2 A ¥ra— (8~20t) 1
#:6.2-3Q) HMINBRUELERMEW(~oRILES
T.f& (k= AR (5LA%) =y S A
=
. . n=A)=n" —hyyasaky N H55kWHk 1
TASLE =By ‘
ARRTTL | B L O a— 5 ) (F#o. o) |
) FI7FL—r T L—1 (25t) 1
¥ %I EvagN xkk‘gm% 2
i PSR Ry O n— o) (. o) 1
o H BB N>R VR EIRE (200 ~240kWHk) 1 5
mA—a—~& (2. 3m%H%) 1
PR T avyJ—h | 227 U — MRAEE (8~22m’/hik) 1 0
N (JTNTEZE) MRAT T a7 Y — k2 FYH(10t) 1
. ~ KU LY % 7R (150kgfk) 1
N 4l 1] E)‘LA
Es BRI J L=t T 7 (2.9t5H) 1 2
Vo | g es— R |32 U — KA 7 H(90~110m"/h) 1 )
L Gimieg) i 22 Y — k3 FHE(101) 1
o o ATF7A4 KBV MV 1
G G N — L o —~ 3
G | avri-riar SN M\L/7$(90 110m*/h) 1 3
a7 J— kI FHHE(10t) 1
ET—X 7 L —& (3. 1m) 1
A S
e L - ) | B 7 (10~120) 1 3
2 A ¥r— (8~20t) 1
HEET
FTATFIVNT 4= v (2. 4~6. 0m) 1
Mg - ®E LT K —Z (10~12t) 1 3
1

HA¥a—T (8~20t)

53




6.2.4 HADE
FHHEIZSE B, A2 R ENE T - K@ BT E CER AR 9 R) ) o BB EEK
SHREIC L AFFBROD T — 2 ICHSE | FEROBEK R v N U — 21T T D 2 LIk HERHE
fTWE LT,
FHE 2 EHEG ORI RRE AT, FHERER O S | B R Y N — 7 O TREE L E
L7z, FHEiz@EIL, X6, 2-612/RT &80 T,

54



